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Index = Logarithm
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Introduction to Logarithms Unit 10 Day 1

Given the following function, make a table & graph f(x) = 2% and its inverse.
f(x)=26> Inverse; suiteln X ¥y A

x |y x |y BEER \%’3. U‘*’%A

2 M2 maE EvinrS w\o‘\“’

1 |- s
=0 || l O 4——4&%‘ >

N ok . A

2 | 413

Is f(x) = 2¥a one-to-one function? Explain your
answer-.

4o ble W puoses  the hoTi20Ma( g nd
wetical e Yests

Based on your answer, what must be true abouj, the inyerse of T?I ;‘unc‘rion?>
perse 15 alse & ncy7oN Yo
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Based on the graph of the inverse of f(x) above,
*
Describe the end behavior of 'rha.ﬁunc:tmn as X —> >

n = o
N)
Describe the end behavior of ’rhe*Ft‘Hg\#ieﬂn as x—0 % > O

What would be the first two steps to find an equa‘ruon for the inverse of f(x) = 2*

algebraically? Od{\a‘(laf ‘e‘()( p o) 8 @ r\'c(/) L\ OWGQS

y 97—86%\"6(5?9&8;&

Equation after Step 2:__/ x: a Y
) x=3

To help us with the next s‘rep we hav %o look at a new function called a I09-:1r'+‘rhm

How Yo Solpe < fov Y
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Defining Logarithmic Equations - The function y=1og, x is the name we give the inverse of
y=b*. For example, y=1log,x is the inverse of y=2*. We can write an equivalent

exponential equation for each logarithm as follows:
v = logeyx 1s the sameas b¥ =x

or
fi(x) = log, x

Now let's write the equation on the previous page as a logarithmic equation.

-t
Logarithmic Equation: ’Q (Z\> = \Oj& X
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A ' >

flx)=27" :(—:‘-) Inver'se:.(i'/ﬁz {53 ‘/7_7\ “Q J "
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<l
Logarithmic Equation: ’( (*> = 105 I/l_a.X

) X N —
Describe the end behavior of the mnc‘rlon as ¥ —> % \X 4 o

N
Describe the end behavior of the f‘unc‘rion as x—0
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Summary
Point on every logarithmic graph: ( [, O)
Domain: ( 0,d3> Quadrants: _L 7T\
Range: (—<D oO> Asymptote: X =0 0
“. %p (0 r>
o (- °0°o> QLI
. (o0,®) i W=0
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Let's graph the function f(x) = logz(x+2)

(Hint: What type of transformation will occur with this

function? Please write your answer below.)

X

)= logex T ()= loga(xe2) T

X

What transformation happened to the function?

February 26, 2019

Y

N

et oL

Describe the end behavior of the functionas x —» =

U\aeo

Describe the end behavio?of the functionas x —» -2

J
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Describe what transformations would occur for the graph f(x) = logs(x-4) + 2

R+ 9 aed up o
For the logarithmic function f(x) = logs(x-4) + 2, explain why x =10 is not in its domain.

£{od=losF9) + -

Canl Take [og of neqetie
= VL
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Logarithmic Form of an Equation

@ @ Restrictions b: b > O

General Rule:
\OS M QP -Qorry\ ¢ OO
Write in Exponential Form:
bod
e —
1. log.4=2 Q — %
3
[V —
2. log,125=3 5 =/as
=N
3. log,100 = x 10 =00 X=o)
N

(=]
4. logel=g 15 = |
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Write in Log Form:

5. =9 log =2

6. 107=1 703/3-) = -]

7. #-=16 lo<}o/0 =X

8 12°=1 [Qgﬁ | =0
2
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